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Directions (1-5): Read the following information carefully and answer the questions given
thereof:

In a certain code language

‘this is not me’ is written as ‘ar rt st pt’

‘not you but him’ is written as ‘mn we rt gs’
‘me and you come’ is written as ‘yu mn pt xr’
‘but this is him’ is written as ‘ar we st gs’

1. What is the code for ‘me’ according to the given code language?

A.qs B. mn C.rt D. pt E. Cannot be determined

2. For which word the code ‘mn’ stands according to the given code language?

A. come B. you C. not D. me E. but

3. For what sentence the codes ‘xr ar yu st’ stand according to the given code language?

A. ‘and this is come’ B. ‘me and him come’ C. ‘you and me this’
D. ‘come thisis me’ E. ‘you me come not’

4. Code for ‘but this is my’ is written as ‘st wx ar gs’. Find the code for ‘him’.

A. wx B. we C.yu
D. cannot be determined E. rt

5. What could be the best possible code for ‘and this is how’ according to given code
language?

A. ‘ar styu pm’ B. ‘ar st xr we’ C.‘ar mnyu st’
D. ‘ar st pt xr’ E. More than one option correct.
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Common Explanations (1-5):

From first and second codes, only ‘not’ is common and code for it is common in both is ‘rt’
Thus, not = rt

From third and second codes, only ‘you’ is common and code for it is common in both is ‘mn’
Thus, you = mn

From first and third codes, only ‘me’ is common and code for it is common in both is ‘pt’
Thus, me = pt

Now, we write the three codes without those which we have found.

‘this is’ is written as ‘ar st’

‘but him’ is written as ‘ we gs’

‘and come’ is written as ‘yu xr’

In fourth codes, ‘this is” must have the code ‘ar st’, and ‘but him’ must have code ‘we qgs’.

We cannot find more than this.
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From the common explanation, we see that the code is ‘pt’.

Hence, option (D) is correct.

’

From the common explanation we see that the word is ‘you’.

Option (B) is correct.

We see from the common explanation that
‘this is’ is written as ‘ar st’
‘and come’ is written as ‘yu xr’

The code in the question has all the four element of the given codes. Thus the sentence for the codes
would have the words ‘this is and come’.

Option (A) is correct.

From the common explanation, code for ‘this is’ is ‘ar st’, thus code for ‘but my’ would be ‘wx gs’.
Now, code for ‘but him’ is ‘we qgs’.
By comparing last two codes, we can tell the code for him is ‘we’.

Option (B) is correct.

From the common explanation, we have

‘this is’ is written as ‘ar st’

‘and come’ is written as ‘yu xr’

For ‘and this is’ could have code either ‘ar st yu’ or ‘ar st xr’

Code for ‘how’ must be different from any code given in the code language because code for ‘how’ is
not given in it.

We find that in option (A) only, apart from the three mandatory cpdes ‘ar st yu’ we have a different
code ‘pm’ which could be for ‘how’.

Option (A) is correct.
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